
Instructions:
1) Answer all the questions.
2) Each question carries 

1 mark.
3) In this section there are 4

options (A/B/C/D) to each
question.

Choose the appropriate answer
and write the answer in the
brackets given against the
question.

4) Part - B must be attached to
the answer booklet of 
Part - A.

5) Marks are not given to cor-
rected, dismissed or erased
answers.

1. Which of the following is
not a feature of the organ-
ized sector?  ( )
a)  Exploitation of workers
b)  Fixed salaries
c)  Fixed working hours
d)  Paid leaves.

2. Climate of an area is in-
fluenced by ( )
a)  Relief altitude 
b)  Latitudes, Longitudes
c)  Location, Population
d)  Population, Latitude

3. Which of the following is
not located Eastern ghats?

( )
a)  Velikondas
b)  Palakondas
c)  Seshachalam
d)  Palani Hills

4. Arrange the following
from lowest highest in sex
ratio? ( )
1)  Kerala 2)  Punjab
3)  Telangana
a)  1, 2, 3 b)  3, 2, 1
c)  2, 3, 1 d) 3, 1, 2

5. Which of the following
does not represent inter-
national migration? ( )
a)  Migration of skilled
people to Saudi
b)  Migration of 
people from Bihar to 
Punjab.
c)  Migration of people 
from India to China
d)  Migration of softwares
from India to USA.

6. One of the following be-
longs to Internal drainage
river? ( )
a)  The river Luni
b)  The river Narmada
c)  The river Tapad
d)  The river Ganga

7. Which of the following is
an example of a trade
barrier? ( )
a)  Foreign investment
b)  Delay of goods
c)  imposition of tax on im-
ports
d)  Imposition of tax 
on exports

8. Choose wrong pair from
given below? ( )
a)  Organic State - Assam
b)  Chipko movement - 
Uttarakhand
c)  Sardar Sarovar - 
River Narmada
d)  Madhya Pradesh - 
Digvijay Singh

9. Result of Globalisation?
( )

a)  Competition increases
among countries. 
b)  Getting profits for small
producers.
c)  Reduced relation 
between countries
d)  Scarcity of goods.

10. The correct order of fol-
lowing incidents?

( )
1.  The great depression
2.  India getting freedom
3.  Enabling Act.
4.  The civil war in Russia
a)  4, 1, 3, 2
b)  1, 3, 4, 2
c)  2, 3, 4, 1
d) 4, 3, 2, 1

11. This is not related to the
people of Republic of
China? ( )
a) Country-level land 
reforms committee.
b)  'New Democracy' 
Principle
c)  Adult peasant 
movement.   d)  Comintern

12. The three 'R's with refer-
ence to "The New Deal"?

( )
a)  Racism, Revolution, 
Religion
b)  Rural, Reform, 
Revolution

c)  Relief, Recovery, 
Reform
d)  Religion, Reform, 
Recovery

13. Which demand was NOT
related to the Royal In-
dian Navy Strike? ( )
a)  Bad food
b)  Behaviour of their 
British Officers.
c)  Release of INA 
prisoners.
d)  Promotions.

14. "Universal Adult Fran-
chise" means?  ( )
a)  Right to Education
b)  Right of Vote
c)  Right of Freedom
d)  Right of Life.

15. Which type of govern-
ment system does India
follow? ( )
a)  Presidential system
b)  Monarchy system
c)  Central system
d)  Parliamentary system

16. Mahatma Gandhi de-
cided to launch his third
major movement against
British rule? ( )
a)  Champaran
b) Vande Mataram 
Movement
c)  Quit India Movement
d) Non-Cooperation 
Movement

17. Political party which
dominated the anti-Hindi
agitation was ( )
a)  Assom Gana Parishad
b)  Siromani Akali Dal
c) Dravida Munnetra 
Kazhagam
d)  Shivasena

18. Article 356 of Indian Con-
stitution is related to the
following? ( )
a)  The election of President
b)  Amendments in 
Constitution
c)  President's rule
d)  Elections in the states.

19. Nirmala Seetharaman is
currently which central
cabinet minister? (   )
a)  Finance Minister
b)  Education Minister 
c)  Railway Minister
d)  Home Minister

20. The Present Governor of
Reserve Bank of India?

( )
a) Shakti Kanth Das
b)  Rajiv Kumar
c)  Sanjay Malhotra
d)  Y.V. Chandra Chud

14
C

,  25  2025

www.nipuna.ntnews.com,
www.facebook.com/ntnipuna

8      Environ 
      .

8    Environ 
‘     .

    4     
1.    2.   
3.     4.   

         .
1.   2.  
3. 

8          
(Crust) . Crust 
        

8   2/3   , 
    
     

8         
     97.3 

8       
  2.7 

8        - 
   

       
8     78.08  
8   20.94 
8   0.93 
8     0.03 
8  0.0018  
8          
    (     )
 .       
11 .     .

8 90           
 .   
      .

8          
            6
        
   165  
     1     
    .  ‘
    ’ .

8         
  .    
   39 .  .
          
         
 .

   
8       ,    ,
        
    
 .                 

     
8       
        
   .  
        
        .

 :     ,   ,
    .

     
8        

      
  

: , ,    .
   
1.    2.  
3.  
4.  
5.  
6.  

 
8        

      
    
.

8       
      .
1.      
2.    

    
 : Carbon Monoxide (co),

Oxides of Nitrogen, Oxides of

Sulphur, Hydrocarbons, Radio

active  
8     ,    ,

 ,    
   
8 (Secondary Pollutents) 

      
      
.

 : . (03 ), 
      (PAN) 
     

   
8   
8     
  
8       ,  

,      ,
  ,      
  (    ) ,
      
     .

     
8         ,
  ,     
,  ,   
  ,    

       
    .

8      
        .

8            
 (77 )   . 

8       
     8 ,
   14  .

8      
 ‘  ’. 

     
    

8    ,   ,
   ,   . 

8    ,    ,
 ,  ,   . 

  
8 10      

          
         . 


8  1     ... m.
 200   . m. 
  .  
    . ,   
      . 

8     
      . 

8    ,   
   
   .


8      0.01  
 .m  1  . m.
 . 

8     ,      
      . 

8      
   . 

 
8             

    .   
  10  . m.  
     .
          
  .

                                 
8         
  . 

8        
    .     
     .

       
 

  
8   ,    

      
       . 
        .

 
8  , ,     

         
        
   . 

8   ‘    ’   
    . 

8   ,   
       ‘ 
 ’      .

8        
   ‘    ’
         .

 
8  ,      
      .

8         
  .

 
8       

      
         ,
,         
        
  ,      
      .

8     ,   
      
        . 

8 1952    
           
  .   
        
 ,    
4000      .

8       
      .  
 (    )

8           

       
          
,      
       
     ‘ 
   ’   . 

8         
      
     
‘     ’ .

8 1944      
    5000 
      .  ,   
      .

        
    


8          
.    , 
  ,  ,  ,
      , ‘ 
 ’     
  .


8       

        
       . 

8 ,   ,  
 ,       
      .


8          

    .    
 .

 
8    ,   ,

    .
8    :   ,

  ,  
 ,      ,
      
  . 

8          , 
        . 

8       ,
,      
  . 

     
  
8          

.     
     .   
      5
...      
       ,   
   ,      
       . 

8    5 ...  
        .
       
.

       (BOD)
8        

         
       
          
       BOD
 .       
     .

     
8     ,  , 
       
.

8        ,  
       
  .    
         . 

  
8          
        
          
        
     .

8      
        
        .

Instructions:

1) Read the questions carefully,
understand them and an-
swer.

2) Write the answers for the
questions in Part - A in the
given answer booklet.

3) Part - A consists of I, II and
III sections

4) Attach PART - B to PART -
A answer booklet.

5) Write the answers clearly
duly following the instruc-
tions given for each section.

6) Attach the given India and
World maps to PART - A
answer booklet.

1. Write any two differences
on Eastern Coastal Plains
and Western C o a s t a l
Plains.

2. What are the reasons for
1969 agitation?

3. How would you say Indian
companies benefitted with
Globalization at 
present? 

4. What qualities do you like
Dr. B. R. Ambdekar? Why?

5. Draw the outline map of
Telangana and identify the
birth place District of
Prof. Jayashankar.

6. Observe the given table
below and answer the fol-
lowing Questions?

7. What are the factors of Pro-
duction and explain any
one of them?

8. Discuss the reasons for the
partition of the country?

9. Read the following 
paragraph, understand and 
comment on it?

8 Even small parties tried to

gain undue advantage as

the withdrawal of their

support could cause the fall

of the government.  

Sometimes this also caused

'policy paralysis' - as the

coalition could not imple

ment any policy which

called for serious change

for fear of withdrawal

of support by one or the

other partners.

10. Observe the following

Graph and analyse it?

11. Prepare a Pamphlet on

environmental awareness?

12. Locate the following on the

outline map of India?
1)  Thar Desert 
2)  River Godavari
3)  Indian Standard 
Meridian
4)  The state where the
schooling revolution 

13. What are the impacts of the
great economic depression
on Germany and what
measures taken by the
country?

14. Describe the mechanism of
Monsoons?

15. Read the following para-
graph and comment on it?

8 Today, this is the major

source of water for people.

When there is so much

extraction, it affects others

in connected areas.  it

affects the stock of

water these would be avail

able for future generations.

Therefore, on can't allow

individual landowners to

extract as much water as

they wish from their land.

There should be some

restrictions.  These restricti

ons will be acceptable if we

first delink the connection

between ownership of land

and water drawn from the 

underground system throu

gh tube wells on the land.

16. Observe the following

graph and analyse it. India

population (in Millions)

1901 - 2011?

17. Give suggestions to prevent
migration of people?

18. Locate the following on the
outline map of the World?
1)  Germany 2)  Israel
3)  Japan 4) Poland
5)  Geneva
6)  The country associated
with the Dr. Martin Luther
King Junior

(English Version)
Part - A and B
Class : X
(Max. Marks: 80)
Time: 3-00 Hrs.

S.S.C MODEL PAPER -
SOCIAL STUDIES

Contribution of organized and unorganized sectors
Sector Contribution (% of total)

Employment Gross Domestic product
Oganised 8 50
Unorganised 92 50
Total 100 100

a)  What does the table represent?
b)  In which sector are the most employed?

PART -A [Marks: 60]

[Time: 2-30Hrs.]

SECTION - I

6 x 2 = 12M

Note:

1)  Answer ALL the 

questions.

2)  Answer each 

question in 3-4 sentences.

3)  Each questions 

carries 2 Marks.

SECTION - II
6 x 4 = 24M

Note:
1)  Answer ALL the 
questions.
2)  Answer each question
in 5-6 sentences.
3)  Each questions carries
4 Marks. SECTION - III

4 x 6 = 24M
Note: 1)  Answer any
FOUR questions.
2)  Answer each question
in 8 - 10 sentences.
3)  Each questions carries
6 Marks.

Part - B
Class : X

(Max. Marks: 20)
Time: 30 Min.

.   
      &

  
 

9963221590

Answers:

1-a 2-a       3-d 4-c

5-b 6- a      7-c 8-a

9-a 10-a     11-d 12-c

13-d 14-b     15-d 16-c

17-c 18-c      19-a 20c

-,  
  

 

   ..  
   

 , 

,  

    
 ()   

  .
l  : 391
l :    , 

    , 
 , 

l  :   
l   :  1
l  : https://www. 

npcilcareers.co.in

..

    
() / 

    .

l  : 7
l :   ,

 , 
 (),  

l : 
l :  11
l : www.celinida.co.in

...

l -,  :   ,  
     .

  

  


